#% Monday, October 28, 2024 & A

EE 481/581 Microwave Engineering Quiz #7 (Fall 2024)
Name /Z e/y /4'

Instructions: Open notes & text. Place answers in given spaces. Show & clearly label all work for partial credit.

Find the overall [4ABCD]- and [S]-matrices for the cascaded two-port networks shown.
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EE 481/581 Microwave Engineering Quiz #7 (Fall 2022

Name ﬂé VA

Instructions: Open notes & text. Place answers in giveh spaces. Show & clearly label a{;\/ork for partial credit.

Find the overall [ABCD]- and [S]-matrices for the cascaded two-port networks shown.
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